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1

rhNkidihtesldys fsih  
ld¾dfdiird *rhRcdi x

2

TWf#iO 4 ^kng.kcdi kgT³uu: _jdkwqrd kdPkidird _jdoDgks rhNkidihtesldysng mW[hkdi x  
_jd KldjdJ fgtdrd %kidird ThKndydang fsrgRcdi x rskdAkidik ySodij:fgus $rW u:lp fdik: 
KldjdJ fgtdrdrdi fsrhRcdi x lphksang $kiwihfdikidiku: ldcs 3lDk mWkidihu: y:mduWtdi x  
fwiitdb rsk:/E'diui $rdijdirdRfgkdi ^ldµcdi t:'diuing jdrdvcg1kdi fwiitdb t:'diui 
$rdijdirdRfgkdi ^ldµcdi rsk:/E'diuing *rhRkdi x ydtgFkg rhNkidihtesldysng %kidird 
oz2ys rskg[d n;uslzkts x  $ldµcdi kgTwqrd TWf#iO 4 ^uh mwªLcdi x  _jd KldjdJ fsrdR 
ydkdifgyd rhjdi $kd2fwiqkts x  jgrs ^kdild¾gu fgtdrd fsrdR ydkdifgyd 3lDts rsTfwih 
rhjdi ywuskidiib uWtdi x  $kiwihfdikidiku: ldcsrd rhNkidihtesldysjs odkskiwiqrd rskdAkidik 
ySozj:fdbk jd'd>ydkdfWi x tWfpcdi ld¾dªys jgtdi, lphksang rhNkidifwiqrd rhNkidifdiihksa 
fdirdjs ySkdiLySkdiMrdlpcdi %kidird ysjdfdijdldchc1di x

3

fdirdu: Kldys_jdJksjS fdird oz2ys tWfprs fdiiktdi fgNTfdiirdjdi *rdRts x

4

fdirdk lDuh TSfskmgfwih, 3lDfwifsi mWoDgfwih rhNkidi lZkxdk fdiiktdi uwjdJ mwldµbjdi 
fdirdk lzuilp ^fdFvcdimdirW  *rhRfdii x  Kldldkmdku:rW fdi»:rdRydfwiqrd 
ySkdiLrdktdi Kldys _jdJks oz2ys ySkdiLjdi lDtdikdimdihodiardRts x  Kldldkmdk kidihfdydia 
^kidiNvcsrd % odfdikidik ndihksM $½odiauicwqrd  lD¿ui mwldµmdirhRcdi x

5

$¼odiau jgkdNfdiiui 40 ~ 64  
vedihu:jdfdiirdjdi ySkdiL ySkdMv:kiwics _jd tsrdfdiirdi rskdAkiikms kidiirhRcdi x  lDfdFkdih 
fscsmsl¢b>vcdkdi x  _jdJcdih % ySkdiL rdikcs ydlzLkmdij:uWcdi x Kldys _jdJkdih 
ySkdiLrdktdi rsuimditdikdrs vwqvsui odL'd>fdiing mwldµmdirdRts x

6

5fd j;kskteSkidiiui 8 ~ 4k   
Kldysfgcdirdi KjSodia rhNkidilZkxdfdii lDtdib KldydN¾dfdii jgfdukidiirdi x
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fdirdk fs[dFozkmsrh uWjdirhR fdirdjs ^'d>k fprhR uWjdirhR x jw±odafpufdirs mwldµjdirhR 
uWjdirhR lDfdksfwiqrdldLbsjsrs fdirdfdikyh KldydN¾dfdifgFus x  tWfprsjs ld¾dªydk uWtdi x  
ySkdiLrdjdi kgfduozrd tgrs lzuilp fdmsMrdlpcdi $ktdkdih KldydN¾dk jgfduozrdtW x  
lDktdijdi< lD¿ui Tfgvi ^odiarhRcdi x

8

k:fdih 47 ~ 45  
ndrdijd fdirdu: Kldysfgcdirdi ydrdiR ndikskms tWfprsjs uwjdJ kiwiildLnskldfduwrdi x

9

rhNkidi ySkdiLu: mwldµ ySkdiLrdi vbs> Kldysfgrs ndfdiNfdii [h[dFydkng rskW/
E[sydfdiGydikts x  % ySkdiLrdi fsikmsrdts fdiksuWrdktdird ^fdFvcsrd ySkdiLrdjdi 
yskdindiuWtdi x

10

$kiiyW ySkdiL ^fdFjd fdiiktdi, uWjd [s¾d fWkidijdfdiiktdi fsmgkdY Tkdindiydikts x  
vwqvsuiu: tgrskiWiui kdmskmsrd ldkdu:jdlp % tedkgBodrdfdiirdi uWjd rhNkidioDg2rdfdii 
mdihtg/Ek x

11

tgrskiWiui 0 ~ =, 4k  
rWrdi ^kjd ozk»odrdfdiiui fWkidiib mdihmsysrs, fdi¸fdHtdi/Ec;jdcdi jdihkdiMkcwrdi x

12

%kidird fdoda´fdii ºfdifdii fduw tedfdUdfdiingrdi, %kidird ydufwkKbijdui [ditd/Efwiqrd 
n;+|wv;mdiM fduw ywu.ngrdi *kcwrdi x

13

%kidird ozk¸odrdfdii $nsRThFuufduw fdikcdimdikcwrdi, tgrs mdKjdfdiiui $nsRfduw 
*kcwrdi x
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14

$nsRfdkbs Kldfg»fdii %kidird kiwiitd/rdikcs Kldfdºkmdimdikcwrdi x

15

fWfWuj;uts %kidirdjdi ldksmgkdjdiuikcsks x

16

j:b.j;uts fdirdi'diNui %kidirdkiwitdib rsusmsks, ySkdiLySkdiMbjwq Kndktxedfdiiui 
ywkdifdvcwrdi x  
tgrskiWiui 0 ~ =, 4k

17

^mdMb tgrskiWiui tWfpcdi, ydkKcs uWjd fdi¸fdHtdi/Ecdi, fdiºfdi ozk¸odrdfdii fsihtd 
uwjsJklduWrs tdihydu fditedN jdihkdiMrdbi. mdihlpmdirhRcdi x tgrskiWiui ydrd 
tdkd{rdfdiiu: ydkdifgyd 3lDk mdihmgcdi ndfdirskmdkcs x

18

tgrskiwWiui 0 ~ 46  
kgKys jdusnsrd tdkd{rdfdiiurdi rWrskjd mdihmdimdikcdng

19

%jg[dfWiledihkdihcedicwq fdirdi'dNjdifdihkdirs ¼usrd _jdcdi 

20

fdmsM, % fdi¸fdHtdi/Ecdndi fgrs odrsRtesrs KldfW[skms tgrskiWiui 0 ~ 6   
%kidird odifdiiCfdiirdjdi yWvcwrdi x
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21

^mdMb tWfprs jdifdihkdicdi % fdi¸fdHtdi/Ers fdiiktdi rsusmsrdbi.ng mdihlpmdirhRkdi x  
vedihfsi fsihtd rhNkidifsmgkdY tdH[dNk uhng fpkts $mdb rgNkidifgts *rhRcdi x 
ldks[ditd2 tdihydui Kfgozrd Kndktedxfdiiui *rdRfs x fSkdi fdird *ydakdfgts kiWiodi Kldvdei 
fdiiktdkd rsusmskidiirgRkdi x

22

4 kiwih¸rdi 5 ~ 4  
rSysfdikydicwqrd kiWiodiKjSodia $rdi *ydakdfgts ydkKcs kiwiitd/ fdirdjdirhRcdi x

23

fdikmstW Kldysfgcdi $mdMb *kbhkdrs fsihkdi mwviydirhRkdi x  jgrs fsmgkdY 
mWkidivcWfgkW jdtg *kcgusOkts x  u:jdkSydN mdiho£a $ts rsTfwi, jgrs vwqvsui 3lDfsi 
mwviydikt: mdihtg/k x

24

tgrskiWiui 0 ~ 4k   
ySkdiL ySkdiMbjwq Kndktxedfdiiui ywkdifdvcwrdi x  odu:fwihrdi Kfgozrd fstedkng % 
Kndktxedfdiiuu: fsmgkdYjdi fdmdiM Kldysfgrs Kjskidiui kdmskmdvcs kidiikcwrdi x

25

Kldodkns 45 ~ 47  
ndihcedfwqird Kldys $k[dfdiirdi ndihksM tWfpcdi fsfdikd{   mWkidiirdlpcdi KldysKjskidirdi $ts 
fdikmstWngrs, mwcd1tWngrs ySkdiLu:rsjs ywmdiMrdi x

26

fdiuhjs 6 ~ 49  
$ldµcdi, kiwi»:fg kidiktdi vedkidivedjdiaui ndu fgkdi _jdksy: _jdkdi 
fdihbh.cdij;rdimdikcdng kiwi»:fg mwfskiwiinsQ %ujskmwrdi x
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27

kiwi»:fg kidiktdi vedkidivedjdiaui jdusns %kidirdrdi tegNrskmdifgksrs ndihksM %kidird 
fdiiktdi Th@ldjdfdiing _jd Kndktxedfdii Kfgkidivcwrdi x  
fdiuhjs 6 ~ 49  
fdird »Htdkidihui %kidirdjs tdndQkdng fdmsMrd KldysoDgks tWfpcdi ndfdirsodiharW *kbhcdi x  
^ydkdiurdi tewqkdNldkdodiha jdrsjdkdky: fdihbuhcsrd Kldysfdihbrdi, tdkidindu Kjskidirdi 
%kidird lpodajdku: kgodijdikbhcdi x  tgfStdi kgT³js jdihcg Kndktxegurdi ndikskms 
ywuiodi jdrdijd ^uh $kbirhRcdi x

28

jSkdardui 89 ~ -   
rh jdrSRUdi\ rS vics1u: rdikmdvcskidiirdRfs x  $fs rS lpodajdfdiiuu: jdrdvcdirdi ndtg<  
rS TSfsydku: ySKfd fsmgkdk jdihcg tWfprsjs ywuskidiirdi x tgfStdi Kfgozrdbi.ng 
tWfprsjs fdirdurdi ndihksMrd tdkydkidii ywuskidiirdi x

29

jSkdardui 46= ~ 4, 6 49   
kiwi»:fg rSfp rdrdiR ldks[:teskmdi ywusozj;rs kidiirhRfp x

30

rh mdkdNursRbsrs rSfp vhnding ywusozj;rs kidiirhRfp x

31

rh tsrdfdiiursRkidii rS Kndktxedfdiiu: usCsydfdiiuhkiwirdi x  
jSkdardui 46= ~ 49

32

tWfprsjs fdird ndikskms $kyh ywusozrdlpcdi, %kidird j;kdjdi usCsyd lpodajdfdiiui 
*kmdij;rW $fdodkdk uWtdi x u:jdfdii j;kdjdi Kndktxedfdiiurdi *kmdiydirhRkdi jdrdijd 
tWfprs Kl£fdi ndihksM fdikskidii %kidird rhNkidifdiirdi ndihksM Kldysfgrs fs'dkidiku: 
kdiT³fp *kbikts x  tWfprsjs uwjdJmwldµj:fdcdk $rWts _jd fdikms yduklp x
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33

$ys fsuifwqrd v»ifdihrdfwiqrd TSfsyhrsjs fdirdfdiktdkdk uwjdJmwldLfduoz *rdRts x  kdP 
fs'dkidifdiirW odu:fdihrdi Kfgozrdlpcdi mwldµmdirhRcdi x

34

Kldodkns 44, 4=  
kidiGfdrdicg, rS kidiGfdrdjgufdiktdi odky:'dldcdifdii, rS kidiGfdrd jgufdiktdi rS 
»Htdkidifdii odkydi's>ng *kcdrsfdiiB x

35

rS j:ksjd m;ldµrdrdi, rS tdH's>kiwiijdJ ^'d>fdii m;ldµrdrdi Kldfdksaklpfdii x

36

$kiiyW fSbrsRkbsrs vbs> tWfpcdi rsrdiR ySkdiLu:rsjs ywmdiMrdrs Th@ldjdfdiikmdij;rdifdii 
x  
Kldodkns 44, 4=

37

fdiydakii 45 ~ 69, 60   
fdirdi'diNui lduijdi fdNkd2fwiqrd Kldysfdihbrdi ndihksMkidii fsfdikd{   tsrdfdiird uwjdJ 
mwldLfduoz kidiirdRts x

38

rS fdihburdi vbs> rSysfdikydicdfdrs ySkdiLr;ktditdifp, rS fdihburdi vbs>kiwi 
$ldkgtesfdrs ySkdiLr;ktditdifp x

39

_jdkdi uwjsJkmgkdi, _jd fdNjsa fgkdku: odksldcsrd fdihbui fdihbh.csyW $fs odndbird 
65k l£Tsu lpodajdk rsklpyhkidib  
9k odk xkguu: $uhkbs lpodajgui 6,kkk l¢q tgjg ydkidihkdfpyhkidib x

40

rS Kndktxegukidiku: *rdR lpodajgui ySkdiL ndikskms 3lDk mwldµmdirdRfs< tgrsjdkbW 
fdiiCNkng tgrsfwrdjd *rdR %u:mdrdui, fdihbui, Kjskidiui $rsRkidii fsfdikd{jdi 
fdmdiMrdi x
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41

4 j;ksktexS 7 ~ 8   
%kidird $ktedjgkdfdiktdus kd»odNfdiiurdi fwuindiu:rsjs ywmsM »Htdkidifdiiuu:rs 
%u:mdrdurdi vkidiuildkdmdirdlpcdi x

42

% tsrdfdiird j;bs>fWyduingrs, tgmsl¢b>cdk ngrs *kcdtdi,  
fdirdi'diNui ydrd o£Rºydiurdi, jdibikvhrsR fwKks fgUd\rdi mWkidifdmdiMrdingrs, tWfprs 
fddihKydfdii mwkidiNuWkdi x  %kidird »Htdkidi kd»odNfdiiurdi lDksnsrdfgcdi x

43

fsfdikd{ tsrdfdiktdi fdirdk kwkcskbsu: lDt: _jd oDg2rdku: rsuvcdyhfdii, fdirdk 
ndydku: mWozrd ªªursR KjSodia kdjdaku: jdldLvcs¼fpb, uWjd fdirdydlzLtdfdiiui 
fdirdusR [s¾skmdib x  ^ts fdirdk mwldLcdk jgtdingrs, fdirdfWifwiq kidiirhRfwih, 3lDk 
mWodiarhRfwih $rdRts yWcg ywuilpydikts x

44

fdiydakii 49 ~ 50   
kiWiodiKjSodia kdP u:jgrsjs fdmdiMrdlpcdi lDfdrs Kjskidiu m;ldµrd fgrsjs Kldysledufdii 
^mdiMrdi x  fdird odKysJkidiui fdirdjs kd¾dY jdusnskmdfp ngrs tWfprs jdHldfdihKydfWi x  
$kiiyW fdird odKysJkidiui fdird »HtdkidihrsR tWfprsjs odfdiksLkmdijdirhRfdirs fdihKydk 
ywuilpyhkii x

45

^ldµcdi _jdfWUd rsfp kdP fstedkng mwldLfdmdiM fdirdk %kidird jdHldmWyd kd¾skldvcsyW, 
fdird Kjskidiurdi vbs> ySkdiL lDktdijdi

46

ySkdiL fdird Kjskidiurdivbs> uWrdb.kiiyW 3lDk $kg2rsodiakt: ywuiodijdiktgk x

47

fdird kdkndirdi vbs>, fdird ywndrdi vbs>, fdird oDgfdihTsjd oz2ysrs vbs>, fdird fstdNrdi 
vbs>, fdird mdihlpurdi vbs>, fdird ydukydiurdi vbs>, fdird [djsars vbs>, tWrsrs vbs> 
tWfprs ySkdiL *kbikts<



= ( ySkdiLrs rdfdiBjdky: lDtdik;Jkbih

8

48

fdird odkledi odvedNydFfdiirdi vbs> uWjd %kidird o£fdrdi vbs><  tWfpcdi jWfduk fdird 
Kjskidiurdi vbs> mwcd1fWngrs fdikmsfWngrs ySkdiLySkdiMrdi x

49

tWfprsjs fdirdi'diNrsjs ndu Kl£fdi rskcsrd »Htdkidifdiirdi vbs> kiditeWmdMng ldrsydrdk 
*kcdirdi x  tWfprsy: 3lDkdLkdmdijdirdR % Kl£fdi vktedfWi ydrd vscd1usR fdikmsldrdiui 
mWkidiibjdi K¼tdVEfsodiakts x  Kldodkns Kndktxedku: odu:fdihrdi fdiinsklpng ^uh 
mwªLcdi x

50

Kldodkns 45, 46, 47  
^tdkydkidii fsrsrd ydkdifgyd yWusrd ledusyhkd2lp fdiinsklp fsktgk x

51

tWfprs kidiktdi vedkidivedjdiaui jdusnskidiikcs %kidird jdb>cdu rdrdiodkskms 
rdcdimdimdikcdfduwrdi, fdihrdfdj:bsjs ^tskiWifstes x

52

fsfdikd{ mWkidiibjdi %kidird KldysKjskidirdi ySkdiLu:rsjs ywmdiMrdi x  Kldodkns 45 ~ 46, 
47  
fdihrdfprs vits/rs vbs> tWfpcdi ySkdiLySkdioDgacdrs fdihrdfprdjdi KjSodiajdi *rdR 
odkvktedfwiqyW tgrsrs j;uimdibjdi _jdoDg2kii ydldLjd *kcW *kbikts x

53

vedihu:jdfdiiu:rs rhNkidildtd/ydiurdi mdihoWaW, oDgtegkdYkng $odui rWkdk Tksnsktg<  
mdb> *u.kledird Tksnsktg $rW fs'dkidihuW 
fsfdikd{u:fdoDgakii x mdb>k *u.klesikmsrdlpcdi fdihKydfWi fdNjsa $ldkgtes $fpyhcdi x

54

tWfprs ySkdiLrdktdi _jd mdb>fdii *kbikts x  3lD mdbh>rsR $fdukvesoDgakdrdRts 
kidihj:vi ldKysjdu: odL'd>k mWodiarhRcdi x
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55

kidihj:vi 5 ~ 45  
oDgFydkKydNfdii ^mdiM rskidifdifdii m;ldµrd ySkdiL ½ktdv:fp fgksjs ydnsrdbi>ng 
fdihbuhcdics

56

kidihj:vi 5 ~ 45   
4k xfd fdmdrdku: kidihj:vi kwkcdi %T@urdi ndihksM mwªLcdi x  fdNvesmdkskmdfdtdi/, 
rdkd»ydN mWkidifdtd/rskidii tWfprs ldts %T@u tedkdB[hoda´fdii o£FmgMEkidiiydfwiqrdts,  tSrsrs 
vbs> fdirdi'diNu ySkdiL ySkdMvcdiydikts x

57

tWfprsjs, oDgyhrdirsjs fditdeN Tkdindi ¼kgbku: rSfp, lDfdks ld¾dfdiird *ktdif: 
tgrsrs vbs> rS ySkdiL *kcdirdi x  
fdirdk KjSodiay: *rhRfdih< fdird TSfsyhu:. %kidird msyahrdi oDgkdkng TSfskmdibjdi 
_ldµjdikbirhRfdih<

58

%kidird ldts %T@u: mwlzLrdbi.ng fdirdk %kidird kiwicdu n;ldL Kl£fdirdi ndusns 
*rhRfdih< %kidird [djsay: %kidird msyahrdioDgkdkng rdcdimdij:cgrsjs %[d jdusns 
*rhRfdih< %kidird %T@urdi fdird »Htdkidiku: fdiiKtskmdijdirhRfdih<

59

ldkdtW[diui _jd tW[d lD¿kdiui jgfgurs j:kdijdirdRlpcdi % tW[dfdii kiwiijdJ %k¾duijdi 
rdfdiBjdkng *kcs, rsThkiiySndu lD¿kdirsngrdi, fgks mdbh>rsR nGfdkdfsodiardRbi.ngrdi 
KldysT@ mWkidi fdukidiirdi x

60

jw±odafpuu: jdihcg ^tWfstdekng fprdRts x KjSodiars $knSjdkskms %kidird kgThNrsjs 
fgkdodiufgFurs j:kdijdikbW, fgks Kl£fdirdi, %k¾durdi %kidirdjs KldysT@ mWkidifdirs 
tWfpcdi j:kdijdikbirhRcdi x %kidird kgTN tdekdB[hKoDgarsR jdihcg $rdiodkskms 
nGkdfskmdfdikbirhRcdi x

61

3lDfwqirdldLbsjsrs $ktdkdi ldkdtW[diui fgkdi mWozrd KldfdihYhujs jdbi>vbs *ktdikdi x 
j;kydfdikts vwqbsjs fdihKydk rSThkiiysnd lD¿kdiuh.nd *kbhkdi ngrs ydkdifgyd fgks 
jdikidiijsa  vkidibldcdiydikts x $ts rskdihlzkmdvcsyW, %fdNjsa kiwiijdJ lD¿kdodydFk kdtdi/ 
mWkidivcs odFtW[hrsjs ysksns fwUd\fduoz fdodiakts x
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62

$uhndirdrW jw±odafpuktdkdih fgks KldfdihYhujs jdbi>vcs *kcdkdi x ^ldµcdi 
rSysfdikydiuing ySkdMvcdbkjgtdingrs, %kidird fdmdiM ldkdNkydfdii %kidird kidiktdi 
fs[hFodfdiiy: *kcdfduwrdi x  
KjSodiars fwkbcsodiarhRfdirs mwldµjdikbW odks¼tdi, KjSodia TSfsydkuhkbs fdimdMuWrs, 
fsteWkidiyd, fs[hFodlphksydfwqird TSfsydk TSfskmdndungus x

63

fdiydakii 0 ~ 54  
Kldvedifg, Kldvedifg, $rs rdrdiR lzuimdi Kldysfgcdirdi ldkdu:jdfdiiu: KldfWozkldcdi,

64

ngrs ldkdu:jdfdiktdirdR rh ydkKcs, msydaKldjgkdfdii mWkidiifgcW KldfW[skmdirdi x  
fdiydakii  0 ~ 54 x  
fdikmsjs mwcdijs fditdeN, KjSodiajdi oDgyhrdijdi  fditdeN ¼kgbfdikyh jdihcd tWfprs 
Kl£fdihndiYfdiirdi ndihksMkiWi x

65

% fdNjsajs rstdkd{rdk usCsydfwiqrd mdb>fWi msrdR fsmsKyhuW msfdks ySkdiLu: $ys 
fdiiCNkng jdrslzoDgakii x

66

jw±odafpujs ywusozrd %[dMkdNk n;usl£ j;ts/rsTk 3lDfdikbW ^ldµcdi ySkdiL 
TkdindimdirdRtdrs x Kldjdbrd Kndktdxek fdirdjs ^ldµcdi ySkdiLTkdindimdirdRtdrs fs[dtd 
ldkdiodiardRts x

67

$ktdijW kiwih¸rdi Kldjdbrd Kndktdxek %Cks %tehNkidihuu: u:jgrsjs msfdks 
fwhmdMksjdrdi, fdikskidii %¸FrhrsR kdP fdihbuu: mwlpydirhRcdi x

68

fdmdrdk Kldjdbrd 47 ~ 9, 0 x $ldLcdi %jg[d fditdeNfdiird lDndikdimdirdR fWk;jd 
tdihydrdi rWrdi mdihmsysrs x
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69

vedihrsfgodiujdi Kldjdbskmdirdbi. rsydN odifgkdardi jdusns kidiirdRts x

70

Kldys kgTNfdiirdjdirdi Kldys 
fdk[dfdiirdjdi Kldys veg'dfgksjs Kldys KldTujdi x

71

fsihkdi tWfprsjs vedkidildcdics %kidirdrdi fdiºfdi ldkdmdics %kidird ySkdiL ySkdiM 
ledicskidi fdmsMrdts x

72

%jg[dfdiirdi vdeihfsirs odfdiiKtdfdiirdi Tutegkdurdi jduindTWozrd fgrsjW rdfdioDgJkdfdii 
mWkidiics $rs mwl¢Lrdi x

73

kdP fgjdNfdiiu: ySkdiL ySkdiM ledicskidi fdodaikts $rs mwldLcdkuWtdi x jgrs ySkdiL ySkdiM 
ledicskidi fdmsM kidiirdRts $rs mwlpakts x

74

fwiitsbs tdihyd fdkda fdihrdku:rs kwkcdfd vegndk $vt/dlp fdiyd fstegrhurdikcs 
vkidibsjs kdfdiBrs lzuilprsodaikts x %Cks vegndk fdiHndfdii kiwiijdJ [djsajs rdfdioDgJkdfdii 
mWkidijdikcdirdbi. tWfprs KldTusR fwhmdMksodairdRts Kldjdbrd 46

75

Kldjdbrd 47 ~ =, 4k  
lDfdcwqrdrdi jdHhkdfdiHndfdii r;odbs kidiktdingrs, mWysfsihtsngrs % fdiiKtd 
fWkiikmdij;rsrd kiwicdu
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76

tWfprs *Kndyd ªKydu: ¼kidivcsrd tWfprs j:ldfdirdi fditdNfdiirdi Kyhndirdi Kldjdbrd 
47 ~ =, 4k  
^ldµcdi Kystdihyd fdkdafdihrdfdiirdi $rdiodkskmdi fgjdNfdiirdi 47, 48 fdmdrhu:. 
ndfdirskmdkcs x

77

Kldjdbrd 47 ~ 47, 48  
^tsn: rWrdi mdihcdng ywu. fWiledifdii jdrdvcwrdi fdirdi'dN jdifdihkdirs ¼usrd kiwiijdcdi 
% fWiledifdiil¢q jdihkdiMkcwrdi x

78

%kidird [skdodiO fsihtd odifdkdA jskSbfdii mWysu: fgcsndu j;cdfdus kidiikcwrdi x

79

fdikskiwiijd tdihyd tWfgukidifdiiu: rdikcs fwcdus fdmsM n;ldL odFkdfdiiy: fWiledifdii 
fsihtd jdihkdMirdR fgrsy: mwl¢Lrdi x

80

vedihfsi l¢qkdi ldkcskidiirdRts j:ydj:kidiifdii fdirwrdi x

81

vedihfsi l¢qkdi ldkcs kidiirdRts x Kldjdbrd 47 ~ 47, 48

82

vedihfsi l¢qkdi 3lDfsibs< $ts u:jdlp $kydk j:yd KjSodai kwkcdfd kgjdcdjdi odihmdrdng 
*rdRts x kiWiodi kwkcdfd kgjdcdjdi fdiiktdi 3lDfsi Tkdindiydikts< tWfprs ySkdiL kgjdcdjdi 
oztd/kng *rdR fgrsrs %kidird ySkdiL Kldjdbrd mWodairdRts x u:yding kdP fs'dkidik 
ldks¾skmdij:cgrsJ fdirdk j;kmwk %ngus x %kidird ySkdiL lDldµcdi fwiitduwqkt:rdrs 
%[dMkdNldc;mdiM x
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83

tgrsjs %tegkdfdii tgrskiWiui Kndktedku: *rdRts x

84

tgrs - ~ 47 kwkcdi fWu fdiihcdi fdktdu tsrdfdiiu ydkdifgyd %ukidi ldfsKydyddrdi 
ndihksMrd ySkdiL ySkdMvcdirdi x  
^ts ldks[ditd/E Kndktdexku: tSkdQfwqird Kldfdmdrdk x

85

kiwifwhTWJui 7 ~ 9 Kldfdmdrdku: _jd k:T³ _jd odkfdydOkgrsjs odihmdrdng *kts x 
kiwifWhTWJui 7 ~ 9 odkfdydOkd fwiijdbs _jd tsrdfdii m;ldµrd rskdAkiikms kidiirhRkdi x  
jgvbs> 56kk tsrdfdiiui $rdng 56kk odkfdydOkgui x

86

tgrskiWiui 0, -, =, $tegNkidihu: *rdR Kldfdmdrhu odk¾slda vegndk 56kk 
odkfdydOkgui

87

Kldvedifp kiwiijdJ vhlzaodBfdii fdikdYfdiiu yhkSCirdi kdP Kldfdmdrdk ydldLrsodksng 
odihmsodairdRts x ySkdiL lDldµcdi fwiitduGydikt: jdihcd mwlpakts x

88

$»'WFk:'di kgT³jguku: kiwikdi'duWfdiirdi ysksns jdb>fdirs %T@ Thks mWozrdlpcdi 
kdP 56kk Kfdmdrdtsrhui KªkdkvedfdikidihNkii x  
^K[hkiiui 0k odkfdydOkgui vviu:rdi tgodydFku: *kcs fgkdi Kl£fsikmsrd 
kiwikdi'duWfdii rdndkgrsR lprd~rskgBYk TWkidicgrsjs %[dy: lDtdikdi mdihoDgakdi x

89

%Cksjs KjS xlph x780 u: kiwikdi'duWfdii jdb>fdirs kgT³ %T@ ^mgMcdi x $ldLbs rdikcs 
56kk odkfdydOkgu Kldfdmdrdk fdiinsozkts x fdikdu fdmdrdku:js fdtg/k x 56kk 
tsrdfdiiui $rdng 56kk rsTfwqird odkfdydOkgu ydkdifgyd %ukidi ldfsKydyd 
Tkdindirdi x kdP Kldfdmdrdk 4-77 u: %ukidi ldfsKydyd ySkdiL KlDgkdkvdefwqirdts x ySkdiL 
$kbW 3lDfsibs<
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90

4-77 u: tWfprs ySkdiL ySkdiM ldeicskidi fwiitduwqktdrs ldks[ditd/k mwlpakts x ndcskidihkdk 
ndkbj;bs>kts x 56kk tsrdfdii ydkdifgyd TksnW %ukidi ldfsKydydjdi ySkdiLjdi 
odkvktedk 3lDfsibs<

91

%ukidi ldfsKydyd $kbW 3lDfsibs<   
tgrsjs ySkdiLjs odkvktedk 3lDfsibs<  
kwkcdi ndicgkgui *rdRbi. ldks[ditd/E Kndktedxk mwlpakts x

92

lpkgydrd ^K[hkiWiuSkiiui $rdi tsrdfdii ndicgkgrsjs fgkdi vuiui ywmWMfgkdi x

93

fgkdi ªªui _lpLj;rs tWfprs jdifdihkdicwqrd kiWiodi vusjs odihmdrdkiwqird n;+w| 
lzu.rdi fs[hFodky: vuskiimWMfgkdi x

94

kdP k:T³ fdirdk ªldkTWo£a ¾dfsikmdfdirs tWfprsR $cdindiyhk x lDktdijdkbW kiWiodi 
fdird oD2grdku: ªldKjdfditedrdkng mdrs¼kidihcdi x

95

$kiiyW jduFksjs fdiiktdi fgks vusfwqlp mdihcg1rsjs ffdksjs rsTfwqird vusuWtdi jgvbs> 
fs[hFodky: vedfs'dNydiau: kiWiodi vus j;kdjdi lDtdikdi mdih[hkdi x _jd jduB'dfdiiuWrs 
Tkydifprdi vusmWkidiib tgFkg fgks ªªusR ¾dfsikmdcgrsjs _jd kd¾djdicdi fdmsM 
fdirdj;kdjdi vuskiwqi ¾dfsioDgacdrs rdfdihBkdi x

96

jgvbs> kidihTjdiui %ukidi ywkdfsihtd vus ld[difp kiwiijdJ kdjgars K¼¾skmdib tgFkg 
fgkd ªªui odihmdrd Kªkidikng %ukidihrsjs vtsuS $kidihNkii x
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97

%ukidi ldfsKydyd uWjd Kªkidi[sMyad tsrdfdii $rdi ldfsKyd tsrdk odkfdydOkgrsjs _jdoDgks  
^K[hkiWiuSui ªbskmWfgkdi  
^K[hkiWiuSuiujdi % tsrdk ySkdiL tsrdk x 

98

Kªkidi[sMyda tsrhrsjs ldtsk:T³u fdiiktdi vihkd fphtWfgkdi x fgkdi TSfsyhusR 
ldks¾skmdi j:fdcgrsjs TSfsyhusR odksTWodij:cgrsjs odfdikidik fdmsM $ts $rdRbi. vihkd 
fphtWfgkdi x lDfdkwqyW fgks TSfsyhusR ldkS¾skmdij;rdk: fgkdi odkledi vº'dJkdY 
mWkidivcWfgkdi x

99

% tsrdfdiird kidihTjdicdi fsihrsfsiydafdii Kªkidi[sMydafdii mWoz fsifdiiBurdi lddfsKyd 
ldkdimdirdi x

100

tWfprs kiwitdib odfdioda ªldfdiiurdikcs ldfsKydiundirdbi. uWfsjgkcdfdii 49 ~ 6k

101

^»u:jd ndicgkdlp o£fd ldkdu:jdku: fdird Kldtegrd kidihTjdicwqrd KjSodia *rdR 
ndicgkdfdiirdjdi rdfdiihrd x

102

fwhKvS - ~ 4, 5   
ldkdu:jdfdiktdi fdi¸fdi»irs jdics ªkd{Ffdiird %oSrdicwqrd $bs> Kldtegrd kidihTjdicdi 
fdirdjdi _jdcdirhRcdi $rs lD¿ui mwlparhRcdi x

103

fdirdi'diNui jgjd tWfpcW oD2glzkmsrd rsTfwqird ndicgkdlp ldksmgkdjdicdi x 
fwhKvS - ~ 4, 5
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104

fwhKvS = ~ 44, 45, 57  
fdiUs\ kdP kdmdrdu:. jdihcd Kldtegrd kidihTjdicding fdmsMrd KjSodai $rs *rdRts x

105

ydrd odFkdjdafdiiy: _jdJoDgkW ldks[ditd/ %ukidifdiiu: KldfW[skmwrdi x

106

fdirdj;kdjdi rsydNfwqird fsfwihmdrd odkªtskmwrdi x

107

»oda jdHydNfdii jgrs ndicgkdfdiiu: KjSodai KldfW[skmwrdi x

108

ldks[ditd/ od2ufdiirdi ¼usrd ndicgkdfdiiu: jgjd ldkdu:jdfdiktW KldfW[skmwrdi x

109

tWfprs odfdiiCfdiktdi jdrdvcdibjdi fdird rsfsiydafdii x  
fwhKvS = ~ 44, 45, 57   
KjSodia kiwiijdJ jduFks kidihndfdii fdirdktdksjs odklphkdAfwqird $ldkgted ldks»kd 
`Kªkidi[sMydaX vus $kiiNkts x

110

fwhKvS 0 ~ 58  
ydrd tgFkg tWfprs kiwiitd/jdi fdmdiMfgksrd Kld¾dfdiird kd¾skmdibjdi 
[djsafdikydicwqkidiirhRcdi x
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111

fsTh@ldrd TWkidiibjdi TSfskmdimdirhRcdi x  
fwhKvS 0 ~ 58 rsTfwqird ndicgkdfdii %ukidifdii ldkdu:jdku: *kts x vdeihfsiBtd 
TksnWts kd¾dY KldYhusjduu: vegndknh ldkdu:jdku: TksnWtgrs ldtd/yW fdikdYfqwi rdirdR 
n;+w|lzu. kiWiodi fdird Kldtegrd kidihTjdicdi x  kiWiodi fdird Kldtegrd kidihTjdirsng 
odkfdydOkgrsj;jdoDgkd $ys ldks[ditd/E od2ufdiiufdiiu:js KldfW[skmgcdi x jgvbs> jdcdfdks 
jguku: ySkdiL ySkdMcgrsjs $ys ldks[ditd/ od2uku:js KldfW[skmgcdi x

112

fdiydakii 4k ~ 65, 66   
KjSodai kiwicdu fdirdjdirdR )jdNyd vegfdfWi fdirdurdi rsydNndfdihNrsjs rdcslsodiakts x  
KjSodia fdirdjdi mwktsrdfgcdi x fdirdusR kd¾skmdcgrsjs yhrdi mWkidindusnsktdkyh 
mWodairhRcdi x $ktdijdrs fdirdi'diNu kiwitdib rdrdiR lDfdcdi _ldµj;rdir: fgrsrs x

113

ldkdu:jdfdiktdirdR rh ydkKcs kiwitdib rWrdirdi _ldµj;ktdirdi x

114

fdirdi'diNu kiwitdb rdrdiR _ldµj;rdrs fgrsrs ldkdu:jd fdiktdirdR ydkKcs kiwitdib 
rWrdirdi _ldµj;rdrdi x  
fdiydakii 4k ~ 65, 66

115

ySkdiLu: fsihkdi _jdJcW rsuvcdrdfduwtdi x KjSodairdi fdirdfdii _ldµj;rsrd kiwicdu ydkKcs 
fdiiktdi fdirdusR %kidird _ldµjdikbhkdi x fdirdfdii KjSodai fgkdfwqiyW %kidirW fdird 
*ydakdfgts x kiWiodi tgFkg tWfprd kiwitdib lDrdRcdih ªldkmWkidirs fgksng 
rsuvcdyhk x

116

fdird TSfsyd ldbS>ui kd¾djdirs ªldkdºyd TSfsyhrsR mdihl¢cdyhfdii x  
jgvbs> o£Rºydicg lphkdA »Htdkidiky: lphkhAydBy: tWfprs fwkvkcskmdifgkdi x ySkdiL 
tsrdk ndihksM vedkidildcdrdfdodkdkuWtdi x _ldµj;rsrd Kldys ªªrsR jdldLcgrsjs KjSodai 
yhrdi jgksMrd kdjdafdiirdi odfdiksLoDagcdi x
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117

kiwih¸rdi 4 ~ 0  
kiWiodi KjSodia kdjdafdii odfdioda ªldfdiiu rdikcs ldfsKydiurding mWkidiirdi x

118

fdirdk ^»u:jdlp %Cks ledicskidiu.: TSfsodairhRk x ndfdird ySkdiL ldkdu:jd 
rgNkidioDg2rdfdiiu: 4-77 rdikcs Tkdindiydikts x

119

vedihfsiBhtd fwiib> fwiitdbs mdrs¼kiird rdkdicdi rSys fdikydicwqrd fWhvWuiy: kdP ySkdiL 
fwiitdukiiNkts x

120

4 l£ydikdi 7 ~40   
lWydikdi KfgodirhRkdi ySkdiL tWfprs ^kbs lDtdib %kdkvedfdindi jgufdii fdmsM kidiirdRts 
x $kbW tWfprs vscd1ufdirs mwlpLj;rsrd fgksy: ySkdiL fwiitdufpydikts x

121

rgNkidioDg2rdfdiiu: l£hvWui ySkdiLtsrhrsR fdird jdrdiuhkg mdihcdndufdii x %kidird jWodi 
rhNkidi odvedu:js fdmdiMrdi x tWfpcdi fWhvWui rSys TSfsyhrsR mdihoDgacdi x $kiiyW 
fWhvWui tWfprs n;+w|lzu. fdikdYgrsR $knSjdkskmsrdbi. Kfgkidivcs *kbikts x

122

fWhvWui mWozrd %Cks jgkdN vuNkdLY kdP $kdLY kgrdirdR kd¾djdiYsA mdihlzodiaakts x 
KjSodai TSfsydk %kidird l£kdird rdfwihtdi mWkidivcdiydikts x KjSodai kdjadk mWyd $ydrs 
ªªursR jdldLvcg1kii x

123

fWhvWui *ydakdfgts $kiirh kiWiodi fWijdiui j;b>vcsrd mWydiui mglz ydkKcs rh 
kdjdafdii fWhvWui l£kdi TSfdKndktxdxefdiiu: *kbikts x $rs kiWiodi mwlzLrdlpcdi 
tWfdtdihydu odfdiih»fdii *ydOldhrdktdk fsihkdi fsrduWkg KjSodai fgng/rdk mWozrd 
fstedkng $ydrs l£kdi ^kjg $jdJcW *kts x
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124

Kldjdbrd 6 ~ 8   
Tkiikmdifgcdi ywu.rs fdodáfdiiui tedkskmsj;rdirdi x

125

TSfd Kndktedfdiiu:rdikcs $ydrs l£kwkyd fdihKydfdiirdi ydicdilp l¢b>rdi x 

126

rh ydkKcs kiwitdibrdi tWfdtdihydu kiwitdibrdi $ydrs l£kdi _ldµj;ktdirdi x

127

kidiihtg ^odJkskiwihkdi l£kdi jdihcd ldkdu:jd odvedu: KldoDagfdr;msMkts 
kidiihtg KjSodia [s'diNuu: _jdcding %kidirsR fwkvkcskmgcdi x  
$ydcdkyd mwcdd1fgcdi jgcdi x jgrs $ydrs TSfsydk ydnsrdbi.ng uWtdi x KjSodiardi 
*rdRydkng Kl£fsikmduWtdi

128

j;rsR oDgkdi. KjSodaifwqlpjdi  
%jdksydicdkidihNcdi jgrs _jd vu¹rdyd fdi¸ vu¹rdydjdi tgFkg Kldvedifp 6k 
fwkcs rhYwfdiiujdi $fdiiBrdkyd fdkdjdi ywmsMkts x ydkdifgyd fWtedrdy: ydrdRyhrdi 
*kstSodijdirhRcdi x

129

kiWiodi kidiihtgrdi Kl£fsikmgcdi Kldvedi kgKys ve:Trd fsrdkidiodkoDgJkdku:rdi 
kidiihtgjgUdi\  jdcdndcgrsjs jdihcd KjsSodaifdkngcdi % ndkdFlp »Htdkidik fdiibh>urs 
KjSodai %[skmgcdi x ySkdiL k:T³ kidiihtg KldjdJrd ydrdi *ydakdfhtsng rsuvcgrs KjSodai  
%[skmgcdi x

130

$kiiyW kidiihtg fwrdtsksngcdi x kiWiodi kidiihtg l£kdi $fdu:jdrd TWkidicdi lDkyd 
fsmgkdjdkdfdii x fdird odFrSyss ySkdiL lDktdijdi j;kdngtdi x fsrdkcs x
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131

kiwi'dkidih 97 ~ 9  
fWifdiktdkdfdii $ldfsKydiu fdkbs fgkdfwqiysfsi x fdih rSys KjskidiursRkidii fdiikdjs 
ndicd1fduw rhkiwirdi x

132

KjSodairdi ydfdi TSfsydku: Kldtexdfdiirsng mWodij;rsrd fgkW  
%kidird rSys fdKoDagrsR tedksoDagkdi x $ts uWjdikcd lDfdkdih rhNkidifsfdikd{u: rsk:/E'diuing 
ySkdiL ySkdMvcdkdi x TSfdKndktedku: rdikcs kidiihtg l£kdi ydicsms fWkidivcskts x

133

fdirdk rsfdozkmW jguk ldfsKydfwqikts x ^K[hkiWiuSkidiiu fduw fdirdk fdird TSfsyhrsR 
ldks¾skmdij:fgus x kiWiodi kiwicdu fdird odfdikdLYrdi jgªcdij:fgus x ydFkdu: 
jdHldjguk fdiindiodaikts  
%T@ Thks $fpydikts x

134

Kldjdbrd 55 ~ 44 $rhNkidifdii mWkidiifgcdi ^kjg $rhNkidifWi mWkidirsfdiiB x 
$ldfsKydicwqrd fgcdi ^kjdrdi $ldfsKydirdngrW kidiikcdrsfdiiB x % odfdikidiku: fdird 
kidiktdi rsusmsrd tWfprs jdHld, ¾dfdihldYui fwrdjsJ ySodij;rdvcdyhkii x KjSodiardi ydfdi 
kd¾djdirsng $knSjdkskmdrs fgksr:b $ys tdi~Cjdkdfwqird fdihbui fdoDagkii x

135

kiiksB - ~ 5k   
j;yad jgufdii ndyskms kidiirdRts x KnS'dB jgufdii Tksns ¼kiwirdi fdirdfdii kd¾dY 
r;ktdjdkiWi kidiirhRfdirs mwldµtdikdi x  
$ldµcdi kiWiodi vedihfsijs ysksns fdoDagcdi x

136

Kldjdbrd 55 ~ 45  
^tsn: rWrdi ydFkdng fdmdiMmdirhRrdi fgrs Kjskidi m;ldµrd Kldys fgrsjsmdiMbjdi rWrdi 
oztd/ ldkdmsrd TSydfdii rh kiwiitd/ *rdRts x

137

o£Rºydicg kiWiodi rhNkidifsfdikd{u: fdird *ydakd fgtsng rdikcdn:kdimdirhRcdi x 
jduFks vus yhNndfdii rSfp $knSjdkskmhurs j:kdimdirhRcdi x rS ªªui %kidird 
ydicsmsfWkidiirdbi. rSfp rS ªªusR _ldµj:fgurs j:kdimdirhRcdi rS l£kdi 
TSfdKndktxedfdiiu: Kfgkidivcskidiikcgurs lDtdikdi mdihodiarhRcdi x ldks[ditd/ ldb>Yku:rsjs 
fSkdi fwUd\yhk: lDfdkdi fwUd\uWkdrs kiwih¸rdi fdksAodairhRcdi x
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138

Kldjdbrd 54 ~ 50  
rs'std/fwqirdtWtwqrdrdi $od»Nfwqird tgrsrs Tksnskmdi fgcwqrddrdi tgrsu:js KldfW[skmdrW 
KldfW[skldkdi x

139

n;+w|lzu. kiwiijdJ TSfdKndktedxku: Kfgkidivcsrd fgkW KldfW[skydikdi x

140

^ldµcW kiWiodijdi rS »Htdkidik ywkdifdfg< %kidird kgTNku:js KldfW[skmdjdikcd 
mWkidiitgrsR ySoz fWkidifdirs %kidirsR $cdndfg< ySkdiLu: fdirdjs odkvedktskmsrd 
TSfsyhrsR vb>vkidiui mWoDgcdi x kdP fs[dFk kiwitdib vh¸bkng jdrdvcdiydikts x 
fdird ªªursR rdfwihtdi mWkidivcdyhkii x kdP fdNjsa rhjdi mwktsrdfgcdi kdP oZa´ 
rhjdi mwktsrdts $rs KjSodai mwªacdrs %[skmgkg< rWrdi fgksR ¾dfsikmgrdi fgks 
$ldµ ySkgMrdi rh kdjdaku: fgks ªªui fdikdindkidihNkii x rS kd¾djdirsng kiWiodi 
ySkdiL ozk¸odrdk kiwitdib rsuvc1gcdi x ^ldµcW kdP ¾dYfdiktW %kidird jdcdjdikgfg<  
rS TSfsyhrsR lpkdang $ksLkmdfg< $fprdi Kldvedih rh TSfsyhrsR ySodij: $rs 
ldkdu:jdkfwqlp ydu lDydafg<


